 MAT094 PRACTICE MIDTERM   –   Spring 2011 


You may use a calculator.
SHOW ALL WORK on this paper!  If you need additional space, ask your instructor for additional work paper.  Be sure to clearly indicate your answers.
1.  
 Simplify:
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2.   
Simplify:
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3.
Solve for y:
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4.   
Solve for p:
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5.   
Solve for x:
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6.
The sum of two consecutive integers is 209.  Use an equation to find the integers.
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7.
Find the measures of the missing angles of the triangle:



< C measures _____________°

< A measures _____________°

8.
How many pounds of gumdrops that sell for $0.95 per pound must be mixed with 10 pounds of 
jellybeans that sell for $1.20 per pound to make a mixture of candy that would sell for $1.10 per 
pound?  Round your answer to the nearest tenth, if necessary.
9.
At top speed, a bluefish tuna can swim 110 miles in 2.5 hours.  At this rate, how many miles 
could a bluefish tuna travel in 3.5 hours?



10.
Evaluate the expression for the given value:
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11.
Solve for h:
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12.
Solve the inequality and graph the solution set:
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13.
Plot and label the following points in the coordinate plane:

a)
  (8, –6)


b)
  (–7, –1)


c)
  (9, 0)

14.
Construct a table of ordered pairs and use it to graph the linear equation:
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15.
a)
What is the “slope” of a line, in plain words?  _________________________________



__________________________________________________________________​​​​____


b)
What is the “x-intercept” of a line, in plain words? _____________________________



__________________________________________________________________​​​​____


c)
What is the “y-intercept” of a line, in plain words?  ​____________________________


__________________________________________________________________​​​​____
16.
Given the linear equation  
[image: image10.wmf]1

yx3

3

=-

   :

a)
Find the x- and y-intercepts


b)
Use the intercepts to graph the equation

17.
Find the slope of the line containing the points (9, –6)  and  (–8, 0) .
18.
Find the equation of the line containing the point (12, –5) with slope –7.  Be sure to leave your answer 
in slope-intercept form.
19.
Find the equation of the line containing the points (–9, 2)  and  (–5, 6).  Be sure to leave your answer in 

slope-intercept form.
20.
Graph the solution set for the linear inequality:
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